Pre Calc BC Logs Name

1. Express as a single log:

a) %Iog(x)+4|og(x)- 3Iog(x) b) In(%}- Inve®x

2. Given that log(m) = a, and log(n) = b, express each expression below in terms
of a and b.

a) |og(%j b) log(10m)

(
c) IogL d) log(.01m" 1000°)

1000J

3. Given log, a = x express each of the following in terms of x.

1
a) IogaE b) IogJB (2} c) Iogix/g

b



3. Solve the equations below algebraically.

a) IogS(x) =4

d) Iog(x) +Iog(x- 9) =1

f) In(x+1)- In(x):ln(4)

b) log,(10+3x)=5

C) In(x) =-2

e) Iog(x+1)+log(x- 1) =2

o)) In(ln(x)) =2

h) (Ioga(x))z- Iogs(xz)::% ) Iogs(log4(x))

j) log, (x) +log, (x) = 2—65

k) log, (x+3)+log, (x—-5) =

=1
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